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0.001 0]|[15]| 25 |[120]|[15]| 25 |[10]|[15]]| 22
0.002 15) Lz )| 27 ||10||[15|] 25 ||10|||15]| 22
0.004 23 | 25 | 33 ||10|||15]| 25 ||10]|| 15| 22
0.006 3 | 36 | 42 ||10||/15]| 25 ||10||| 15| 22
0.008 48 | 48 | 50 ||10||/15]| 25 ||10||| 15| 22
0.01 60 | 60 | 60 ||10[[|15[] 25 ||10|||15]| 22
0.02 130 | 130 | 130 |13 |[16]| 27 ||10||| 15| | 22
0.04 250 | 250 | 250 | 23 | 25 | 33 || 10|/ 15| 22
0.06 30 | 36 | 40 [|10||] 15| 22
0.08 48 | 48 | 50 ||10|||15]| 25
0.1 62 | 62 | 62 [|12]||17|| 27
| 0.2 130 | 130 | 130 |[15]|[18]| 28
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